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FEBRUARY COMPETITION 
 

A PROJECT:  

Make a project about BRITISH SPORTS – describe the most popular British 

sports! Use the Internet, encyclopedias, magazines, etc. (For up to 15 points.) 

 

B Solve the riddles about animals according to the example. (For up to 15 points.) 

Example: králík - BBI =  .................. rabbit - BBI  ................  =   .......... rat (krysa)  .............  

1. kozel - nemocný - YG =  ..........................................................  =  ................................................  

2. kozel - nemocný - jít - Y = .......................................................  =  ................................................  

3. býk - BUL + kačena - D =  .......................................................  =  ................................................  

4. C + slepice + husy - ENG  ........................................................  =  ................................................  

5. kráva + slepice - CO  ................................................................  =  ................................................  

6. osel - dělat - N...........................................................................  =  ................................................  

7. pes - dělat + R + kráva - C  .......................................................  =  ................................................  

8. farma - paže (ruka) + vůl  .........................................................  =  ................................................  

9. kůň - H - nebo + kočka - C  ......................................................  =  ................................................  

10. pes + býk - GBU  ....................................................................  =  ................................................  

11. farma - M  ...............................................................................  =  ................................................  

12. TUR + klíč  .............................................................................  =  ................................................  

13. B + ucho  .................................................................................  =  ................................................  

14. světlo - GHT + 1 - E  ..............................................................  =  ................................................  

15. býk - BUL + voli - XE + osel - klíč  .......................................  =  ................................................  


